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Oppg̊ave 1: a) s2−16

(s2+16)2 b) 1
(s−a)2 c) 1

2s + 1
2

s
s2+16

Oppg̊ave 2: a) 6
(
1− e−

1
3 t
)
, b) 5

π2 e
2πt − 10t

π − 5
π2 ,

c) − 1
4 cos(2t)− sin(2t) + 1

4 + 2t

Oppg̊ave 3: a) y(t) = 3
2e

−2t, b) y(t) = 6
(
e

1
2 t + e−

1
2 t
)
,

c) y(t) = 4
5e

2t + 1
5e

−3t.

Oppg̊ave 4: a) y(t) = 8
3e

− 2
3 t − 3

5 cos(2t)−
9
5 sin(2t),

b) y(t) = e−t + 1
3 sin(3t)− cos(3t),

c) y(t) = 2e2t + et − 1 + 2t
Oppg̊ave 5: a) ỹ(t) = 7

2e
−3t − 1

2e
t, y(t) = 7

2e
−3t+6 − 1

2e
t−2

b) ỹ(t) = 4e6t, y(t) = 4e6(t+1),
Oppg̊ave 6: a) y(t) = 2e−t b) y(t) = −1220000e−10t − 600000e3t,
c) y(t) = cos(10t) + 10

99 sin(10t)−
1
99 sin(t).

Oppg̊ave 7: a) s2+2s
((s+1)2+1)2

, 2sω
(s2+ω2)2 ,

n!
(s−k)n+1

b) e−bt−e−at

t , t
8 sin(4t).
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